/ILPINE waNuac

Power Amplifier




Contents

Specificationsl SRR . . . . S R - . . . .o R 2
Pansilioeations 2o rs e el LR Sl T L el SR e T L AT S 3
B0 Gl L R e e e i L el e e e 4
Sohemarell aarany Bl e e T T e bto6
L Dt e s R SR e o S i e R 7t08
Electnicaliantsiltistyin. Buetcuian: el o saton B ole bR S R e 91to 10
Exploded Viiew (Cabinet) . . . % gew kol oo tate & seomwopmty =~ 11to 12
GahinetAGseabiviRantsiise i e e T 12
Semi-Conductor!|.ead Identifications - . . .« oo ot ose e o8 o s 13to 15
FrackingiMeuiod AVIBWEIEE (-t St o Bl 0k R SRR R TG e 16
RackimarassemblaR sl foe b o o L e e T 16
Specifications
Power Soufice o R Rt e 14.4V DC (11~ 16V)
POlarity. . . o . o ST TN DRI L. s Negative ground
Cueren@DERINET ULEt o e oo TR RPN B e e e e, S o 1A
PowenOurpleie.. -« L OERR SR e - s R e 35W/2¢ch
SR a0 e b oo 0 i 100 dB
InpUt Sensitivityr. . . e O 0.5V £ 2 dB (Fix position)
2V = 2 dB (Variable position)
Frequency Respensei(T kHz) . ... . s S R S 20 Hz to 40 KHz
Load Impedansersl. . ..« o o0l aS vl v s <o o SRR SRR L e 4 ohm
InpUt IMEEdante: . . o . cois s enh s e s o o R I e o 10 kohm * 2 kohm
SemiCond U CHors 4 1C’s, 23 Transistors, 6 Zener Diodes, 11 Diodes
DImENSIONS £ . SR ... e o it ara e o el AR Sl e oo T 200(W) x 130(D) x 40(H)
Weight™. . ... wc o iRl DR il TN R S e 1.2 kg

NOTE: Due to continuing product improvement, specifications and design subject to change without notice.



\ 3517

Parts Locations

ZILPINE 3517 REMOTE-ON

POWER AMPLIFIER

Power Indicator

Figure 1

T =
all - A
9 @me E S [[Eele]]

Input Gain Control Power Supply Connector

(E304)

RCA Input Connectors Fuse (F301)
(E301) DIN Input Connector Speaker Connector
(E302) Input Selector (E303)
(S301)
Figure 2



DRIVER
Q103,104

O
ea

B+
ICIO0]I
1C201
IC30lI

B— <=

DRIVER
203,204

L302

MUTING
Qiol

A

DC-DC
CONVERTER
Q305, 306,

308,310

A

DC-DC
CONVERTER
Q304,307
309,311

MUTING
Q20

MUTING
SWITCH

Q313-315

IC301-1

FIX

v
VARIABLE

IC301-2
A5

FIX

J
VARIABLE

E301-1
. S)L-CH

|_s301-1, ”4—"""—"

) INPUT

E301-2
(o)R-CH

| S301-2, ||<“W"—"

—3 A5

(9)EI

REFERENCE
REGULATOR

1C302

(0)E2

2
IN| |5

INPUT

INPUT
DIN CONNECTOR

|4 OPAN E304
/
B+
SWITCH |
Q301,312
< 21 —OBATT E304
( (

weibeiq oo|g

LLSE



Schematic Diagram

1C101
Ic Ic302 (@20l 1c301
Transistor Q306 Q308 Q310 Q311 Q309 Q307 Ql03 Qlo4 Qlo2 Qlol
(@) ekl 302 301 031 0204 0203 ter a20l
Q Q Q3l2 Q313 Q315 Q314
—_————— - —,e,—_—,—,—,,——,————— — — — — — — — — ——  —————— — —— — — —
|
' QI03 ke - | |
I ¢zl 25c3isl ' SOA TS WPCASTONA
0.12 €302 0.12 DRIVER on S8 H
i) 1 = __
l €303 23:00/25 c304 23?)0/25 RS Al I
N N
L +‘0v303§/|25 €332 1033/25 w chcouNRsRTﬁlNTT RI27 RIO7 E T o L e
I b6 [__°F it 2 | rewperature LOAL ot ol o i | r
oL = 7 o LA DIFFERENTIAL )
M 2 AMPLIFIER clo7 Clo4 s30l
| C3057100/50 & o 4.7/25 10/16 J T Fiading el
[ ey E 9 > TR I
o =
coreBE Y3 [F %0 2 L . <
- ¥ 47P S S OHO ! |
B — 1% z98 | | I
o) x RI03 T &= O o
| | |8 |§ 120K g |2 O OVRIOI!YA_R'_A_BLE_;' I
2,30 AN
| A oo |
Z © | | e
5 3 E‘E w02 /VR201 47K
Q310,311 | B4 2 Oro I
I 2sDIo65 | B3 S0t T
Y
CONVERTER g T | I l
@ «©
| Q308,309 g 8 l , |
| ZSCCIg(B:?’ o [ g|501».204 Q102,202 IC101,201 Ql0l,201 |
DC—! Al264 25C945L JPCI270H 2SC3327
CONVERTER = DRIVER [BIAS ] | POWER AMP | MUTING |
l Q306,307
2SA733 |
AW ] 30 L
| ¥os |
10 AN
304,305 [0 680K 5 8% RB0S
| 25C945L BE | oo jFoe :fzz+ & 6.2K |
. T | > Lo c208 S S & Q201 RAZMOV4 x o | |
[=iov FNg 22P o I2 mcuvw—@ 680 ol |8 S |
N S 1 P g o ' s = =283 |
I i R323"K z9°2 3 B i Reos g 8 S I
et [ NZ @ & I | |
0.5mv = [F0.37V]
£ 120, [reome] | 5 o | o |
L w 47p
I o 2 s £CTION | I |
1) o T
o DIFFERENTIAL 7 = CONNECTOR
1C302 W | { TEMPERATURE | AMPLIFIER = o R201 I I |
l 1PC494C Reslfio il 2 CONSTANT R227 T R207 + I (DogEN
(iw) gcm 5 CURRENT 7K 10K i I (@ $SIGNAL GROUND
I Q203 / go |7 LodE 45725 I (DREMOTE POWER
2sc318l el " a 1C301(1/2) (@RIGHTSIGNAL INPUT
I DRIVER Sz UPCA4570HA I %;E; SIGNAL INPUT I
[0:4mv] P
5 m RLzl?G s 'J:ug DRIVE AMP @) OPEN |
I e © & c326,,047 I : (B)POWER SUPPLY GROUND
+ 8 © | D310
l 72 8 % [14-38v] i o e o3 I
B i Q30I © 0 i ¢ s B
Ze e 25A1358 @ OC I3 Bur o 9 A5 e |
I 7 B+ SWITCH Sy e =T /[1o5v]
R351 N R345 Gx) 04A73.9,
Ser |2V 02 x| [lo.56v] 22K w3 —_—
l_ = = . RN L = E ] 0.035V| o3
e —— 3 3 o [
papm P ez e NE g Sou4 3xz 9z o] |
e o </ TR AM o < o o
[ 'l I Rg WE 0303 R340
& 302 — A _J
I e I e ——
o I ! S—— Q314,315
25C2603
I @ l ) T = —O'\/D—‘O BATT MUTING
LD30! 3 —0o_ A SWITCH
I (REMOTE IN) T3
(R GND NOTES :
_‘ Q303 Q302 Q312 =i I ALL resistance values are in ohms K= 1,000 0hm
l 25C2603 _ 2SAI115 RTINI4IS oy PaN e e e T
—— | SWITCHING|— B+ SWITCH 2 - Pakar upp y lvaliagel FDGI44
S - Measuring equipment : Digital multi voltmeter
L m + Measuring pointreference : Between ground
« Measuring conditions : NO signal

________________j:_.___l N

S , 6



3517 3517

Wiring Diagram

Fuse P.C.Board %DIN P.C.Board

&

S301
DIN=-DCR
GRY/BLK WHT/BLK
e S
- E303 i ‘
* ! 9* * %
) 8 :
' L £ ! l( i | L
| ' J J)I
b
; Amp P.C.Board

Q308 ([ bt
©ex
Q309 4
. @ 5 Tr. PC.Board
Q311
@ 1
Ol¥re Tr. P.C.Board
e i
Olgr '
) @
QIOé\
; Q WHT 7 4
GRY |
] LD301
LED PC.Board
D30I D302
= e



()

Electrical Parts List

Resistors:

Carbon resistors under % watts are not mentioned in the

parts list, please confiem them by schematic diagram.
uF = microfarads, pF = picofarads

SyI{Inob.ol Part No. Description SYSOITOI Part No. Description
Amp/Power Supply P.C. Board D309 48T58583F01 | 1SS176
D310 | 48T58583F01 | 1SS176
IC's ZD312 | 48E03485S01 | Zener 04AZ 3.9Z
IC101 | 51E03492S01 | wPC1270H D313 | 48T58583F01 | 1SS176
IC201 | 51E03492S01 | uPC1270H D314 | 48T58583F01 | 1SS176
IC301 | 51E03808S01 | uPC 4570HA
IC302 | 51E03809S01 | uPC 494C D316 | 48E03489S01 | S5277D
ZD318 | 48E03485S01 | Zener 0.4AZ3.9Z
Transistors
Q101 | 48E03491S01 | 25C3327 Coils
Q102 | 48544578J01 | 25C945L L101 | 25E03476S01 | Inductor 1.1uH
Q103 | 48E03811S01 | 25C3181 L201 | 25E03476S01 | Inductor 1.1uH
Q104 | 48E03812S01 | 2SA1264 L301 | 25E03471S01 | Choke E1-26
Q201 | 48E03491S01 | 25C3327 L302 | 25E03477S01 | Inductor
Q202 | 48544578J01 | 2SC945L
Q203 | 48E03811501 | 25C3181 Thermistor/LED
b | BELR el Ren ety TH301 | 48E03820S01 | Thermistor, 20 kohm
R L R LD301 | 48T52238F02 | PR5552K
Q302 | 48E03814S01 | 2SA1115
Q303 | 48T50625F01 | 2SC2603 s
Q304 | 48544578J01 | 25C945L
0305 4854457801 2509451 C101 23E03861S01 | Electrolytic 4.7uF/25V
Q306 48T40081T03 | 2SA733 C102 21E03870S01 Ceramic 390pF
0307 48T40081T03 | 2SA733 (A) Cc104 23E03862S01 Electrolytic 10uF/16V
C105 | 23E03869S01 | Electrolytic  100uF/25V
0308 48T69192F01 25C1983 Cc107 23E03861S01 Electrolytic 4,7uF/25V
Q309 | 48T69192F01 | 25C1983
Q310 48T47613F03 | 2SD1065 C108 21E03871S01 Ceramic 22pF
0311 48T47613F03 | 2SD1065 C109 23E03863S01 | Electrolytic 47uF/16V
&ep | 1oEoeioisnt herlin C110 | 21E03872S01 | Ceramic 10pF
C111 | 08E03876S01 | Mylar 0.047uF
Q313 48E03814S01 2SA1115 C112 08E03879S01 Polyethylene 0.047uF
Q314 | 48T50625F01 | 25C2603
0315 48T50625F01 2502603 C1256 21E03873S01 Ceramic 47pF
C201 | 23E03861S01 | Electrolytic  4.7uF/25V
C202 21E03870S01 | Ceramic 390pF
e C204 | 23E03862S01 | Electrolytic  10uF/16V
C205 | 23E03869S01 | Electrolytic  100uF/25V
ZD101 | 48E03818S01 | Zener 04AZ12Y
ZD201 | 48E03818S01 | Zener 04AZ12Y C207 | 23E03861S01 | Electrolytic  4.7uF/25V
DRUl eonLCAR T IR R C208 | 21E03871S01 | Ceramic 22pF
Do0C eSSl D ) R ah C209 | 23E03863S01 | Electrolytic ~ 47uF/16V
D303 | 48T58583F01 | 155176 C210 | 21E03872S01 | Ceramic 10pF
A C211 | 08E03876S01 | Mylar 0.047uF
D304 | 48T58583F01 | 1SS176
ZD305 | 48E03488S01 | Zener 04AZ22Y C212 | 08E03879S01 | Polyethylene 0.047uF
ZD306 | 48E03486501 | Zener 04AZ3.0Z o e e 47pF
D307 | 48E03489S01 | S5277D C301 | 08E03877S01 | Mylar 0.12uF
D308 | 48T68079F03 | 30D4 €302 || 21ED3493S01 | TF 0.12uF




Symbol B!
. Part No. Description sy;':"' Part No. Description

C303 | 23E03864S01 | Electrolytic 2200uF/15V DIN P.C. Board

C304 | 23E03864S01 | Electrolytic 2200uF/25V Volumes

C305 | 23E03878S01 | Electrolytic  100uF/50V VR101 | 18E03810S01 | Variable, 47 kohm
C306 | 08E03880S01 | Polyethylene 1uF VR201 | 18E03810S01 | Variable, 47 kohm
C310 | 21E03493S01 | TF 0.12uF

G311 23E03865S01 | Electrolytic 1000uF/16V

Connectors
gg:i ;} 582233281 geram!° 228"‘; E301 | 09E03479S01 | RCA, Input (2P)
SHAINLS P E302 | 09E03478S01 | DIN, Input (8P)

C31b 21E03875S01 Ceramic 100pF

C316 | 21E03875S01 | Ceramic 100pF

C317 21E03875S01 Ceramic 100pF Switch

c318 21E03875S01 | Ceramic 100pF S301 40E03480S01 | Slide SSSAQ6 (Input Selector)
C319 23E00472S01 | Electrolytic ~ 100uF/16V

C320 08E03881S01 Polyethylene 0.001uF

€391 21E03493S01 | TF 0.12uF ;

C322 | 23E03866S01 | Electrolytic ~ 220uF/10V Miscellaneous

C324 | 23E03712S01 | Electrolytic  2.2uF/35V E T I eniconnsceol

E304 01E03851S01 Power Supply Connector (3P)

C326 | 08E03882S01 | Polyethylene 0.47uF o o L
C327 | 23E03867S01 | Electrolytic  33uF/16V HAFRLSR

C328 | 23E01897S01 | Electrolytic ~ 470uF/16V

C331 23E03868S01 | Electrolytic 1000uF/25V

C332 | 23E03868S01 | Electrolytic 1000uF/25V

C333 | 23E03865S01 | Electrolytic 1000uF/16V

Resistors

R119 | 09E03817S01 | PLATE 0.1 ohm x 2

R120 | 09E03817S01 | PLATE 0.1 ohm x 2

R121 | 06E03813S01 | FILM 10 ohm (1W)

R122 | 06E03813S01 | FILM 10 ohm (1W)

R120 | 09E03817S01 | PLATE 0.1 ohm x 2

R219 | 09E03817S01 | PLATE 0.1 ohm x 2

R220 | 09E03817S01 | PLATE 0.1 ohm x 2

R221 | 06E03813S01 | FILM 10 ohm (1W)

R222 | 06E03813S01 | FILM 10 ohm (1W)

R310 | 06E03813S01 | FILM 10 ohm (1W)

R311 | 06E03813S01 | FILM 10 ohm (1W)

R312 | 06E03816S01 | FILM 1 ohm (1W)

R313 | 06E03816S01 | FILM 1 ohm (1W)

0=

¢

[N



Exploded View (Cabinet)

3517

3517

Cabinet Assembly Parts List

3 %
ES| 3 p 4 800
> £ art No. Description

1 6-A| 27E03710S01 | Chassis, Front

2 | 3-E | 27E03790S01 | Chassis, Rear

3 2-A| 15E03711S01 Cover, Bottom

4 | 5-A| 15E03841S01 | Cover, LED

8 | 3-E | 14A73139F01 | Insulator Switch Lock
10 | 3-E | 03E03792S01 | Screw, Bind (M2 x 6)
11 5-B | 03E03792S02 | Screw, Bind (M2.6 x 6)
12 | 2-E | 03E03793S01 | Screw, Bind (M3 x 8)
13 | 3-A| 03E03794S01 | Screw, Bind (M3 x 10)
14 | 3-C | 03E03793S01 | Screw, Bind (M3 x 8)
15 3-B | 03E03795S01 Screw, Bind (M2.6 x 12)
16 | 1-C | 03E03796S01 | Screw, Sems (M2.6 x 5)
17 3-D | 03E03797S01 Screw, Sems (M2.6 x 6)
18 | 2-E | 03E03798S01 | Screw, (M2.6 x 4)
19 | 3-A | 04E03451S01 | Washer, Flat

27 | C-4 | D4E03975S01 | Washer

NOTE : The parts without part numbers are not supplied.

o=




Semi-Conductor Lead Identifications

P
uPC1270H: I1C101, 201
MUTING  +VcCP(FIRST STEPS) +Vcep (DRIVE STEPS)
¢ T )l e e e — o — — e e
| |
| |
|
STANDARD CONSTANT
I BIAS CURRENT LOAD ‘_@&%TJV’EUJ |DRWE)
t’ ITEMPERATURE l
NON COMPENSATION| ™| privE

INVERTER IN STEPS I

INVERTER IN(5) e I
[ QUTPUT2

__@(POWER DRIVE)
|
| |
|
|\ e — e == Bl =l e .. et oy
-V PHA i
| FiRsT et e caTIoN BIAS VCCD(DRIVE STEPS)
7
uPC4570H: 1C301
[ T e e Tt T o i e e e TN

N e

9
DR — - ——-0
PR == O ey o~ 3
| = E Zes = o E >
) For F o 2
7
uwPC494C: 1C302 S -
> (% =) (e
Z- Z o &
=) = o=
ST =L 55 ol o
2z 2 L 28 o O N o
Ir— - -@--B- (D-~0--(@--~
|
| I
:ERROR. !
IAMPI :
| erpo :
8 :AMPZ :
16 | |
| |
1 \— @6 @)~
5 3 S
e 3
7 = (=)
> w
EV =

— i




2SC3327: Q101, 201

28C954L: Q102, 202, 304, 305
2SA733: Q306, 307

25C3181: Q103, 203
2SA1264: Q104, 204

2SA1358: Q301

S




‘ 3517

2SA1115: Q302, 313
25C2603: Q303, 314, 315

m
(2]
@

25C1983: Q308, 309

=5

2SD1065: Q310, 311

)

(i (=
"\

w

RTIN141S: Q312

= il



3517 l

Packing Method View

9]

1 Packing Assembly Parts List

‘ Sy'\rlr:) bol Part No. Description Syl\rll:) bol Part No. Description

! @101 56E03449S01 Carton, Packing (3517) 106 01E03483S01 Assy., Power Connector

E =101 56E03449S02 | Carton, Packing (3517) 107 65T58596F05 | Fuse, ISA

| 102 56E03468S01 | Tray, Packing (R) 108 03E03807S01 | SHTS-1 4 x 14 s) BNP
103 56E03469S01 | Tray, Packing (L) @109 01E03928S01 | Assy., Pamphlet (3517)
104 75E03725S01 Inner Pad =109 68P81880F42 | Owners, Manual (3517)
105 01E03482S01 | Assy., SP. Output 110 b6E03636S01 | Sack, Polyethylene

Notes : ® : For North American model only.
® : For West Germany model only. Others : Common.

16—



	10001
	10002
	10003
	10004
	10005
	10006
	10007
	10008
	10009
	10010
	10011
	10012
	10013

